KSEFIEA
KS series module

KS 86

HiEKEmMm
Track Length

+0.005mm

= Ezﬁﬂﬁ Basic Specification
Ball Screw

N Ex BN gramres EXHEEaE
SR e BEE e Basic Dynamic Basic Static Rated
Nominal 12 FREf sy Ratedload (N) Load (N)
Outside lead gasic Dynamic Basic Static
Diameter (Mm) ~Rated Load ~ Rated Load
mm (N) (N)

BUSR
Code

{5 Pitching M. (N - m)
BEEA JBEES JBEEA JBEES JBEEA1 JBEEA2 JBEES1 JBEES2 iBEEA1 BEEA2 JBEES1 BEES2 BEEA1 JBEEA2 JBEE ST BEE S2

Slide Block A Slide Block S Slide Block A Slide Block S Slide Block A1 Slide Block A2 Slide Block S1- Slide Block S2 Slide Block A1 Slide Block A2 Slide Block S1 Slide Block S2 Slide Block A1 Slide Block A2 Slide Block S1 Slide Block S2

Center of gravity

X&h

Xaxis

R R

Ix: FEEEXERZHBIERE Moment of inertia along the X-axis
Iv: TEEYEZABMERE Moment of inertia along the Y-axis

{3 EEfi:mm¢
BIgR I 8
KS86 7.445x 104 1134 x 106

BigiaE

Linear Guide
ArEF 4B Permissible Static Moment
{f#8 Deflection M, (N - m)

&) Rolling Mg (N - m)

P 7144 12642
KS 86D10 c 15 10 6429 11387 31458 / 50764  / 622 3050 / / 622 3050 / / 1507 3014 / /
P 4645 7655
KS 86D20 c 15 20 4175 6889 31458 / 50764 / 622 3050 / / 622 3050 / / 1507 3014 / /
EEEMFSE (mm) TEFTE (mm) E=ARIENEA (N - cm)
Length of Rail Repetitive Accurac Traveling Parallelism Max.Driving Torque
340
‘;:g +0.003 +0.005 0.015 / 15 10
KS 86D 640
740 0.020 / 17 10
+0.003 +0.005
940 0.030 / 25 10
116
75
2xm-M2.5x0.45Px4 DP 46 4-M6x1Px12 DP a @
I
2x2-M4x0.7Px10 DP 2:M25x0.45Px4 DP 15x2 DP 2xn-06.6 THRU,11x6 DP 2D&3DXRYTHIAE
60 T - L www.limonrobot.cn
m ® | d[°TI* e @ ‘E
< O N B A 1 sy I
| P 1ol e qloll+1Pe
46 |20 23 1 +
86 ‘T: 65 || N ‘ 65
SECTION A-A (m-1]x200 A 6.5
87
4-M5x0.8Px10 DP la"zsi' 35
PCD 70 \ 13 18 ‘
— 23 |
@ v —A L | 2
< 6} o T L el 5 _VIEWB
3 j o S _] N ” N ‘ N ] = T Q| g
34 JSAR | [SA ) ———
f 7 f A 5
/4-M£x0.7Px8 DP 100 70 s
PCD 60 (n-1)x100
VIEWB L2
[X]
HEEE 28 B&A{THE (mm) = (kg)
(mm) L1 (mm R . H (mm) n m - .
L2 mm Al I%g A2 l%& Al ,ﬁli A2 I%E
340 440 210 100 70 3 2 57/ 6.5
440 540 310 200 20 4 3 6.9 7.7
540 640 410 300 70 5 3 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 7 4 10.4 1.2
940 1040 810 700 70 9 5 11.6 12.4

#E: REPIMERTHHHIEDS, 1§ SLIMONEXLE,
#Note: The shaft diameter can be special made in ®8, pls contact LIMON.

47




KSZ5I1R4A
KS series module

KS86D
FEIEEE FO B F1

23, 50 — 87 10
N 2?5 = AMBOTPEDP g5 A 23 —2—18:? o
e &
g - a8
kA - % X \““ v = T &
— , 1) —1 & 7 d
3 o e \ / / § 2l e ©|
&8, /3, o) ® s|H J N
= 9
35 pcoT0 PCD70 -
PCD60 4-M5x0.8Px10DP 4-M4x0.7Px8DP
&R AR F2 FEIEERE AR F3
87 8 87 8
23 50
23 2350 . - o5
KEX | 8]
¥ od | T Ki:=mi| Z i
—1 IEEPM U7 (FAV 2 — g @ 3
P r] \ 3| 28 0 \ J I/
| g8 Nk s E Z / 5
| N, o9 ‘ E— i o ?
- PCD45 -
Peb4e 4-M4x0.7Px8DP X 4-M3x0.5Px8D!
. e
EIEERS AR F4 FEIEERS AR Fb
87 12
23__ 50 87 8
|28 _ . 8 23 50

18]

’ v ]
3 1 %[g
8@

— il ﬁ )z
J‘, = \,://?v

35 PCD90
= 4-M5x0.8Px10DP

FEIEEEAR F6 EBIEEIERE HO

=
L
B

I
I
I
I
|
246

62

/0/

T,
kN

4-M4x0.7Px8DP |

87 H 4
23 50 [=£5m |
28 13, 4-M5x0.8Px12DP
18| L
_EIT ﬂ g
2
PR | | — 15 L2
@ E <
© N &
—d I ~|
=
S
< S

BBHFTHSEISE-TO } BBHTHEISE- T

o) P70
e A0e0
0 0 ik o5 b
5 i
i |
N 14T Pl
ko i
| i @ :
EEIfTIEER-T6 .

i

184
IS

42.50
{

[
O
Q@

52



KSR FIIIRLA

KS series module

KS86D 116
75
112 4-M2.6x0.45Px6 DP 46 4-Mé6x1Px12 DP
% 2xm-M2.6x0.45Px4 DP 8 2xn-@6.6 THRU,@11x6 DP
] X\
|
3 o ¥ i }78
;l [ o~ gjgl i
46 |20
86 )
~
SECTION A-A " [m-1)x200
87
23 _ 50
4-M5x0.8Px10 DP 28 3.5
PCD 70 13 A 18]
T = oy i il
@ 1 g  H—— b —1 7,1, gg VIEW B
- ) - + L * hd Q
L iﬁ )ﬁ\"/ﬁ, AR 7 N -
f ‘ v I Loa s
4-Mbx0.7Px8 DP 100 70 )
PCD 60 (n-1)x100
L2
VIEW B X
HEEE <25 BAITHE (mm) H (mml . . =E (kg)
Lz(mm]  L1(mm)  A1i8EE  A2iBEE ABEE  A2IBEE
340 440 210 100 70 3 2 6.5 7.3
440 540 310 200 20 4 3 7.8 8.6
540 640 410 300 70 5 3 9.0 2.8
640 740 510 400 20 6 4 10.3 1.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 9 5 13.0 13.8
142.6
95
124 4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
110
‘T" 2xm-M2.6x0.45Px4 DP ‘8‘ 2xn-@9 THRU,Z14x8.5 DP
D et 4
y ‘ 7
8 3
Sl ! N oy Ngg N
50 _|25 L it =+ T
100 < 8
200 H
SECTION A-A (m-1)x200
9%
4-M5x0.8Px10 DP 21 3425
15 A 53]
I I -
1] of | if T al VIEW B
11T + ” + +
T — T 7 [
A 50 6 R
(n-1)x150 ® g
L2
L1
HMEEE SE RAITE (mm) 6(mml Himm] n . E£ (kq)
L2 (mm) L1(mm)  A138mE A2 BEE ABE  A2B
980 1089 828 700 40 90 7 5 20.4 22.1
1080 1189 928 800 15 40 8 [ 22.2 23.9
1180 1289 1028 900 65 90 8 6 24.0 25.7
1280 1389 1128 1000 40 40 9 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 275 29.2

57



